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BCQ/D-20 26099
INCOME TAX-I
BC-504
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all including Question No. 1

which is compulsory.
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Compulsory Question ( IFaTE WvT)

1. (a) What do you mean by assessee ?

FE § SR S © 2
(b) What is a Public Provident Fund ?

At Wiase we w7 ?
(c) Write a short note on gratuity.
T=gedt W dfem fewft fafem |
(d) Write a short note on dividend.
A WO feoo fafem |
(e) Write four income which are exempt from tax.
TR H oK W hl faAfem | 4x5=20
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2. Explain, how the tax liability of assessee is determined

with reference of his residence ? 15

TR fafen foh s &1 = qfae 39 Ham-sm
% uR W fRE wehr fuifia e sma @ 2

3. The follolwing particulars are of Mr. X’s income : 15

(i)

(ii)

(iii)
(iv)

)

(vi)

(vii)

(viii)

(ix)

(5)L-26099

Salary (after deducting ¥ 28,000 for income tax at
source) ¥ 3,80,000 p.a.
Dearness allowance (Under the terms of
employment) I 42,000 p.a.
Education allowance (for 3 children) ¥ 15,700 p.a.
Medical allowance (actual medical expenditure
% 14,000) T 37,200 p.a.
Rent-free house (in Jaipur) the company paid
T 8,000 per month as rent. The house is furnished
and the rent of furniture is ¥ 25,050 p.a.
A domestic servant, a sweeper and a watchman
were paid by a company@ < 1,250 per month each.
The company spent T 8,000 on his refresher course.
His contribution to R.PF. ¥ 31,000 and employer
contribution ¥ 36,000.
The company has provided a free telephone at his
residence and paid bill amounting to I 8,000.
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(x) Professional Tax ¥ 7,000 paid by Mr. X.
Compute Taxable income from salary for the
assessment year 2019-2020.

. w & e @ g e wER €

() o (3FM WH W T 28,000 SFRL FEA &
%) T 3,80,000 arftiss |

() TETE w1 (Hared Wi v & i) T 42,000
ClEC

(i) Rrem w1 (3 S==1 & fow) T 15,700 AMfuE |

(iv) Tafrcdn s (ar&dfass fofhedn 0@ 3 14,000 <R1)
¥ 37,200 anf¥es |

(v) foman gwm meE (SR §) & T 8,000 wfd
e R R B | Wb g € Ud SE
WAL W fRwE 25,050 A ® |

(vi) R A, I TE SemER e g h
T 1,250 Wfa H® €, UGN gN gl ST © |

(vii) O FU TR RRIR ®F W =F T 8,000 |

(viil) TG Wifo€e ws # 3R ¥EM T 31,000 TE
e &1 svEE T 36,000 |

(ix) faem 4 . = & faM W qR A®E &l
gloen 3 w2, fowe faw e 3 28,000
TR |
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4.

(x) g & T 7,000 . ww A T
= fAuor 99 2019-2020 & T w-=Im@ 9@
T ™M &I TFT HIWT |

Define annual value and state the deductions that are
allowed from annual value in computing the income from
house property. 15
aMftieh qod k1 GRS q HbH GG I
feifd &0 & fau =i gea § 9 serl SH aret
iehd wwelfqdl o aviF Wit |

The following is the Profit and Loss A/c of Mr. X for the
year ended on 31 March 2019. Compute his taxable

income from business for that year : 15
Opening stock 15,000 Sales 2,80,000
Purchases 1,40,000 Closing stock 20,000
Wages 20,000 Gift from fathers 10,000
Rent 46,000 Sale of car 17,000
Repair of car 3,000 Income Tax

Medical expences 3,000 refund 3,000
General expences 10,000

Depreciation of car 4,000
Profit for year 89,000

3,30,000 3,30,000
The following further informations are given S
(1)  Mr. X carries on his business from rented premises

half of which is used as his residence.
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(i) Mr. X bought a car during the year for I 20,000.
He charged 20% depreciation on the value of the
car. The car was sold during the year for I 17,000.
The use of the car was 3/4th for the business and
1/4th for the personal purpose.

(i) Medical expences were incurred during sickness of
Mr. X for his treatment.

(iv) Wages include ¥ 250 per month on account of Mr.

X driver for 10 months.

31 99, 2019 sl ¥HW B 9@ 0 ‘e’ w1 arw-giH
@ Frefafad @ 1S9 99 sl ITR AR ¥ -y

™ HI UM BT :
SRfres  wiae 15,000 fasea 2,80,000
B 1,40,000 sif<w w@fdn 20,000
S LRl 20,000 fr@r ¥ IWR 10,000
TeRtran 46,000 &R Hi Toeh! 17,000
HR I A 3,000 STE®I i
fafeen == 3,000 aT9Et 3,000
= = 10,000
FR & W 4,000
Y H AIH 89,000

3,30,000 3,30,000
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6.

7.

frafafeq sfafed ged & ® 2 .

() . T o AR e & 9ad § 9 W@
g, fo@ o wm 3@® WA W WA B W@
2

(i) . T 9 78 d§ ®R T 20,000 S HI &I, I
HE ®H Ted W 20% B ol | g9 H &R 2

17,000 &1 =9 & W | &R H TEM
3/4 FMR & fau o da 1/4 =A@ & &
faT |
(i) Tafercr =0 f, @ &1 S § @@
(iv) 7ol ® T 250 Wfd A% T T & SRS @
10 98 &1 oA e €

Explain the following : 15
(1) Capital Asset

(i) Cost of acquisition of capital asset.

Frefafed 1 wwsmEy -

() USf et

(i) st wrofgsl @l 9w @ Ard

Explain in detail the various kinds of securities. 15

fafi= yr wr gfagfal w1 fosRyEs R |
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8. In what circumstances is the income of one person treated
as the income of another ? 15
Th Al HI AF T o Tk uRfefaai d we
S # 2

9. Explain the provision regarding set off and carry forward
of the following losses : 15
(i) Loss from house property
(i) Long term capital loss
(ii1) Short term capital loss
(iv) Business loss.

Frefafe sl =t 9fd den o o 9 % F WEEH
g2

(i) ¥eH wHh ¥ T

(i) <HwE gt g

(iii) sToushTete Yot BT

(iv) &R ¥ T
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